
RE FRIG ER A TION

ao{\´$OaoeZ
( The ory )

(709)

Time : 1½ Hours ] [ Max i mum Marks : 30

g_` : 1½ K Q>o ] [ nyUm™H$ : 30

Note : All questions are compulsory and carry marks as indicated against each
question.

{ZX}e : g^r ‡ÌZ A{Zdm`© h°ß Am°a ‡À òH$ ‡ÌZ Ho$ AßH$ CgHo$ gm_Zo {XE JE h°ßü&

1. Explain the construction, working and testing of a thermostatic switch. 3

W_m}ÒQ>o{Q>H$ pÒdM H$s ~ZmdQ>, H$m ©̀{d{Y Am°a Om±M H$aZo H$s {d{Y {bI|ü&

2. How is refrigerant transferred from a storage cylinder to a service cylinder? 3

^ao h˛E {gbo S>a go Imbr {gbo S>a _| J°g ^aZo H$s {d{Y {bI|ü&

3. Define :

n[a^mfm {bI| :

(a) Evaporation 1

>BdmnmoaoeZ

(b) Resistance 1

ao{gÒQ>o›g

(c) Latent Heat 1

Jw· D$Ó_m

4. What are possible causes and remedies if there is very less cooling effect in a

refrigerator? 3

{H$Z-{H$Z gÂ^m{dV H$maUm| go ao{\´$OaoQ>a H$s R> S>H$ H$_ hmo OmVr h° Am°a C›h| {H$g ‡H$ma R>rH$ {H$`m
OmVm h°?
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5. (a) What is the function of a relay? 1

[abo H$m ä`m H$m ©̀ h°?

(b) Explain the working of a current type relay with the help of a neat

diagram. 2

gm\$ {MÃ ¤mam H$a›Q> Q>mB©n [abo H$s H$m ©̀{d{Y H$m dU©Z H$a|ü&

6. With the help of a neat diagram, explain the working of a refrigeration cycle and 

write the name of parts in high side and low side of the system. 3

gm\$ {MÃ ¤mam ao{\´$OaoeZ gmB{H$b H$s H$m ©̀{d{Y H$m dU©Z H$a|üAm°a {gÒQ>_ _| hmB© gmB©S> Am°a bmo gmB©S> Ho$ ^mJm| Ho$
Zm_ {bI|ü&

Fill in the blanks/Write the answers :

[a∫$ ÒWmZm| H$mo ^a|/{XE JE ‡ÌZm| Ho$ CŒma X| :

7. Feeler gauge is used for measuring ——. 1

\$sba JoO —— ZmnZo Ho$ {bE ‡`moJ H$s OmVr h°ü&

8. Write the chemical name of Freon-12. 1

\´$sAm∞Z-12 H$m Ho${_H$b Zm_ {bI|ü&

9. Compound gauge is used for measuring —— and ——. 1

H$ÂnmCßS> JoO ¤mam —— Am°a —— H$mo Zmnm OmVm h°ü&

10. —— tool is used for joining the same diameter tube. 1

EH$ hr S>m`_rQ>a H$s Q>Áy~ H$mo OmoãS>Zo Ho$ {bE —— Am°Oma H$m ‡`moJ {H$`m OmVm h°ü&

11. Starting capacitor is used to give —— to an electric motor. 1

ÒQ>m{Q>™J H°$n°{gQ>>a BbopäQ¥>H$ _moQ>a H$mo ——‡XmZ H$aVm h°ü&

12. Piston is used to —— the gas. 1

{nÒQ>Z H$m H$m_ J°g H$mo —— H$aZm h°ü&

13. Which type of gasket is fitted at the door of a refrigerator? 1

ao{\´$OaoQ>a Ho$ S>moa na {H$g ‡H$ma H$s J°g{H$Q> bJmB© OmVr h°?
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14. Temperature of suction line is always —— than the temperature of discharge

line. 1

gäeZ bmBZ H$m Vmn_mZ {S>ÒMmO© bmBZ Ho$ Vmn_mZ go h_oem> —— hmoVm h°ü&

15. Chilled tray is fitted under the ——. 1

{MÎS> Q¥>o H$mo —— Ho$ ZrMo bJm`m OmVm h°ü&

16. —— oil is filled in a sealed compressor. 1

grÎS> H$Â‡oga _| —— Vob ^am OmVm h°ü&

17. Unit of voltage is ——. 1

dmoÎQ>oO H$s BH$mB© —— hmoVr h°ü&

18. To connect piston and connecting rod —— is used. 1

{nÒQ>Z Am°a H$ZopäQ>®J am∞S> H$mo —— Ho$ ¤mam OmoãS>m OmVm h°ü&

H H H
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